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guries : 75 HAY — 03 €U
Max. Marks : 75 Time : 03 Hours
Ale — 1. 9 ued sffvard B |
2. U HHIG 1 RIS U 8 | §9H dF @Ue 9, ¥ R H 2| uID
Tug H 05 Yo & TUT & UeH WR 01 3% IqEfed 2 |
1. All Question are compulsory.

2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each
section has 05 question and each section carries 01 marks.

EUs ‘3" Section “A”
Ue SHHID 1A — 39 WUS H Ud dgfdhedld Ue 7 | 99 9 UAd bl Al fdeed

Iy forfey |

In this section 05 multiple choice questions choose correet alternatives of each

and write

(a) Na,Li, KD 3MHR B =] gafl hH NI \—
(1) Li>Na>K (ii) K> Na>Li
(i) Na>Li> K (iv) 379 | P 8!

Decreasing order on the basis of size of Na, Li, K will be :

(i) Li>Na>K (ii) K> Na>Li

(iii) Na>Li>K (iv) None of these

by FrferRad amaags ® 9 fasr sefly faeraa sl g —
(1) Naso (i) Cos

(iii) Mgo (iv) Hso

Whose aquatic solution will be acidic from the following oxide:

(i) Naso (i) Cos

(iii) Mgo (iv) Hso

(¢) UfEH 37T &I IUPAC A9 & —
(i) AeMT (i) Qe
(iii) TSHTED o<t (iv) HIHTE® et
TUPAC name of acetic acid is:
(i) Methanol (ii) Ethanol
(iii) Ethonoic acid (iv) Methanoic acid



(d) 919 27°C &1 Bfeds 9= o 99 R —

(i) 270 K (i) 273 K

(iii) 300 K (iv) 27 K

In Kelvin scale the value of temperature 27°C will be :-

(i) 270 K (i) 273 K

(iii) 300 K (iv) 27 K

(¢) UM IX] FATS UV H 5cm BT g3 W B d ufdfdd &7 avg & g0

BT —

(i) 4 ¥F0 (i) 10 HHD

(i) 5 ¥ (iv) 20 o

If an object 1s 5 cm away from plane mirror then the distant of image from object

will be :-

(i) 4 em (ii) 10 cm

(iii) 5 cm (iv) 20 cm

Evs 94" Section “B”
Yo A% 1B — 39 @S H Ul (5) Rawq wi= aret yeq 21 59 Raa vt o gfid
P |
In this section five (5) fill in the blanks type question complete fill in the blanks
i it.

(a) 10 39 & TH uieRig sioflpd & Sig T 8, o UfcRRT &7 74

() I frd o€ s 9 9R wewh fofear garg &= & 9w at
............. DpT UchlU dg SATHT |

If in a big area, all insectivores birds are destroyed then infestation of .............
will increase.

(c) <&TuTl T T R T TEFT o DEAT B |

Transference of characters from generation to generation is called ................

(d) GFD BT FBIS oo =
Unitof kidneyis ............ooooieniet.
(e) FHAA TUUT gRT &1 uferfda Sem, amarf 2R BT 2 |

Image formed by plane mirror is straight, virtual and ...................




g q' Section “C”
UeT HHIR 10— Ifad Fag Sifew —

Match the following :-
A B
1, URT 70 Sfo S¥el
2. AIfeTw gEgasS IS BT &d
3. Al TTY] e
4. fRS® of I
5. UTRfRerds o g1
AH*el
SEIN)
A B
1. Mercury A. G. Tansley
2. Sodium Hydroxide Source of energy
3. Dynamo germicides
4. Bleaching Powder Metal
5. Ecosystem Alkali
Acid
Non-metal

e — v #Hie 2 9 6 IF B A JRTAYSTRIG WA § UAF U WR 2 (3)
3w FEiRa 31 IR B Aftewa wee HAT 30 T

Instruction:- Question No.2 to 6 arc very short answer type question. Each question carries 2
marks. Maximum word limit for answer 1s 30 words.
Ue shAfH 2 — 3MUD! QT WEHRHAl &1 TS B §H ¥ TP W R Ul g H
aRg fJerga g1 I aus! dad ara foewy ux fear am €
AU YIS W@ H W MY g B ugfd B ugEE oy
B |

(1+1)

You are been provided two test tubes. Out of which one has acidic solution and
other has alkaline solution. You are given only Red litmus paper, then how will
you identify the nature of solution of each test tube?

e HAG 3 — e 3G R &1 e g3 oy d 59 @8 2 SuanT
forRay | (141)

Write the chemical formula of plaster of Paris and its any two uses.



3 HHIG 4 — AMHBIT Heldd Ud ATHe ™ fowved # &g 2 ofaw fafeam | (1+1)

Write any two differences between nuclear fusion and nuclear fission.

9% HHIG 5 — bl R R 4 M & AW foRRay | (Vax4)
Write the name of any four reproductive organ of male.
g3 T 6 — uiRfRufae fivifas e o 27 (2)

What is called Ecological pyramid?

frder -~ ueH BB 7 W 10 TF B Y ARCERTRT W & uld Wed W 3 (<)
3 FaiRd 21 SR &1 iftresan wrsg 91 50 2 |

Instruction:- Question No.7 to 10 are very short answer type question. Each question carries 3

marks. Maximum word limit for answer is 50 words.

U3 BB 7 — 1 fHoU0 S &1 a9 s0°c 1 IfT W 40°C TS 1Kg o H ARG
P} < d M BT AT ST BT | (3)

The temperature of 1kg water is 80°c. if it is mixed with 40°c temperature of

water of lkg then find out the temperature of the mixture.

U HHIH 8 — 3Tl ol UG qdae] o H Pig aF afax Tl | (3)
Write any three differences between convex and concave lens.
Ue HHIG 9 — T @1 & g1 1w fafen (3)

Write flemings left hand rule.
UeT HHIB 10 — Sial & [9ed H 739 Ud dme &) a1 YT 87 FHesy |

()
What 1s the role of selection and adaptation in evolution of organisms?expalin.
e — U BHE 1 F 14 T B YT LS W9 ® UAE YeH W 4 (TR)
Ao iR 2| vde ued o andRe fawed Ry 7 21 SR 3 aifdiwaw
T HHT 75 2 |

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4

marks. In each question internal choice are given. Maximum word limit for answer
1s 75 words.

ged HHIG 11— 3 7 IR T3 A, B, C, D &) AEEG ga® § oid P, a9 PH
W BHI 7, 14, 1, 6 UK §U| TH MR W g B DA W

[EEERE (1 14-14-1)
() JgeT T & (i) gdoT ol B (ki) yaT el B
(iv) S 2

Isha tested A, B, C, D Solution from Universal indicator and find PH wvalue
7,14.,16 respectively. On this basis, tell about the solution; which one 13

(1) Strong Alkali (ii) Weak Acid (111) Strong Acid (1v) Neutral



3ferdT / OR
T O BT Soldai=d g 2,86 2 | fofay f&
() ug 7 fpa ot &1 8 (i) 98 I foe emad &1 8
(iii) 39 I BT FATSTbal 77 BT
(iv) 39 dg ¥ YieHT &) HEaT 97 g

Electronic configuration of an element is 2,8,6 Write :

(1) Element belong to which group

(11) element belong to which period

(111) What will be the valency of element

(iv) What will be No of protons in the element

U3 BB 12— PFIRR & U < faogs vgHTa ok woeliss ol 29| 994 g
oot # Aifem @1 gael w1en ok < & & 49 fea @ g
s U A1t BT (STeran) ool of SH UR UY &Y Sarsy e
2 g4 fhamen o waafae ahexo grT ewige | (4)
Shishir had two solutions of ethanol and ethenoic acid. He dropped a piece of
sodium and saw that a gas is coming out and brought a burning match stick &

found a pop sound comes. show these reactions with the help of chemical
equation.

JeraT / OR

dAifsan &1 1% Al X° A®e 1 FH ol & a1 I dfT uresR
®T TP TP BT &1 99 X B T B A UD AT Y S

g ¥ S g © U B R R qd T — (3+1)
() ™ FHH W BN geh fGanm afmfpa w1 afte e
ferfen |

(i) <X’ BT ST ufy ol » wu & i fopar Sar 21

Compound of sodium is ‘X’ white colored powder and it is a component of
baking powder. when “X” is heated them *“Y™ gas is evolved which turns lime
water milky :-

(i) Write the chemical equation of dissociation reaction on heating.
(i1) Why “x”" i1s used as antacid?

UeT HHIG 13— FHWT 37 UG FHGRT ST a7 87 IIER0T ShY WK PN |

(4)

What are homologous and Analogous organs? Explain with examples.
3{rdr1 / OR

77 ¥ foftr faiRer &7 ufthar &t fafg |
Write the process of sex determination in man.

v HHIR 14— “UR UHe & gfa I Bid 27, 97 3T 39 HYH W WHED &7



gt a1 ot g @)
“Plants are sensitive toward light.”” Do you agree with this statement? why or
why not?

3T / OR

“RRTSI gAY AATRNGd Yo BT g8/ el gidT’ 9T 31U g9
FUH | Fgqd 87 ] a1 Il Ag1?
“Deoxygenated blood does not flow always in the veins” do you agree with this

statement? why or why not?

e — Uy FHB 15 F 16 TF B YT SR WA § U9 W W 5 (T7a)
3w fFeriRa 21 vl ged # araRe fawen iy 77 81 SR 9 arfreaw
oreg AT 100 B |

Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5

marks. In each question internal choice are given. Maximum word limit for answer
is 100 words.

U3 HHG 15 — U Tl dleld & a8 ¥ 75 9H1 TENE W U sar g,
TE ¥ BT afdd TENE S BRY | (5)

(e a1 8 91 &1 Juaa-i® 4/3)

A fish seems to be at the depth of 75cm from the surface of a pond, them find
out it actual depth. (Given — Refractive Index of water 4/3)

3T / OR

U1l a1g ¥ 1,50 fUaciHID et Bid e H Y HRel 2 | Bid H
gHIE BT Al wa eieg | (ke 8 frafa d gerer @Y @ 3xa0°
Ho / 30)

Light enters form air to glass plate of 1.5 refractive index. find out the speed of
light in glass. (Given — speed of light in vacuum — 3x10%m/sec.)

Ue shHIh 16 — fdggd AIeR &1 quid fawifdhd wde! & sfaia sy —
(i) it e (i) Rrera (i) @rd fafer
(Gfteafag B AHifed JRE @ WM R fFEd Al & 9 6he ©
fafr= vrrt & = foret ) (2+1+2)
Describe electric motor under the following heads :-
(1) Labelled sketch (11) Principle  (111) working mechanism

(Visually impaired student will write parts names of various parts of electric
motor in place of labelled sketch)

3rrar / OR

FIRTEe | 3 @ oW @ Ao &1 9uiFe e fovgett @ ofaeia
P —

(i) e (i) fogga uRuer (i) sraeliehd ARl

(e it B fIga uRuy & wId W yaT Hdfd 1 Hraer
forEit 1)




Describe the verification of ohm’s law in the laboratory under the following
points;
(1) Law (1) Electric cireuit  (i11) Observation table

(Visually impaired student will write two precautions related to experiment in
place of electric circuit)

e — U BAE 17 ¥ 18 TH B YA IR U ® UAS WA WK 6 ()
de fefRd 21 o ue # afaRes fawe few 0 8| SR Y srffresan
oeq FMT 150 |

Instruction:- Question No.17 to 18 are Long answer type question. Each question carries 6

marks. In each question internal choice are given. Maximum word limit for answer
1s 150 words.

T HHIG 17— (o) ST o © g vt Rgia awemsd (3)
(b) T BT STd Hfera wHipvor ferfEmg —
(i) "eREm wWitTTe B TH HRE W (1%4+13%4)
(i) Bra- BT ATRISE & ArF o

(a) Explain the electro chemical principle of rusting.
(b) write balanced equation for; what will happen :-
(i) when potassium permanganate is heated.

(i1) Reaction of carbon with oxygen.

3rdT / OR

(a) JMUP Blg ded faar TAT B, MU HY Ugarl b a8 arg 7 a1
eng? o e forfay | (3)

(b) =1 aifwfepar & forg wgfera wiemwor ferfay (1%4+11%4)
() vogfafrad & Sterary & arfAfaar
(i) ® odTss & AIfSTH sEgaaEs | AfHfihar

(a) You are given any element, how will you identify that given element is a
metal or Non-metal? Write three methods.

(b) Write the balance equation for the following reaction.
(1) Reaction of aluminum with water vapour.
(11) Reaction of sodium hydroxide with zine oxide.
U3 BB 18 — (a) RN # wure um o g, gafaal § 932 agi? (3)
(b) SmaTeTT # sfad HCL @ Pl oW wrd forfed | (3)

(a) Veins have valves but arteries do not have why?
(b) Write any three functions of HC1 secreted by stomach.
341 / OR

() forgm Uy @ AR oY T € F?
) 71T § B3 O g dfte et fafem

(a) Pituitary gland is called master gland. Why?
(b) Write any three secondary sexual characters of female.
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1. All Question are compulsory.

2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each
section has 05 question and each section carries 01 marks.

EUs ‘3" Section “A”
Ue SHHID 1A — 39 WUS H Ud dgfdhedld Ue 7 | 99 9 UAd bl Al fdeed

Iy forfey |

In this section 05 multiple choice questions choose correct alternatives of each

and write

(a) Na, Li, K& 3G Ioll BT gg<ll gall shH qHI —

(i) Li<Na<K (ii) K < Na<Li
(iii) Na<Li<K (iv) Na»Li>K
Increasing order of ionization energy of Na, Li, K will be :
(i) Li<Na<K (ii) K <Na<Li
(iii) Na<Li<K (iv) Na>Li>K
(b) FrferRad amaags d 9 faer weily faeas e’y g —
(i) NO (ii) CO,
(iii) MgO (iv) H,0
Which oxide will have aquatic alakine solution from the following :
(i) NO (ii) CO,
(iii) MgO (iv) H,0
(c) U Ueblgel &7 IUPAC A9 © —
(i) TS o (if) W
(iii) HATA (iv) HIAES et

IUPAC name of Ethyl alcohol is:
(i) Ethenoic Acid (ii) Ethenol
(iii) Methenol (iv) Methonoic acid



(d) 400 K &7 Ifeaw 999 o oy g —

(i) 27°C (ii) 100°C
(i) 127°C (iv) 200°C
Temperature of 400K will be in Celsius scale :-
(1) 27°C (ii) 100°C
(iii) 127°C (iv) 200°C

(e) MN |HTel <41 # afrufere fehvor €Ul & 1 30°C BT DIV G 8§
Tl URTGa DI BT 7 8N —

(1) 30° (i) 45°

(iii) 60° (iv) 90°

Incident ray forms 30° angle with plane mirror at MN surface. Them angle of
reflection will be:

(@) 4 em (i) 10 em
(iii) 5 cm (iv) 20 cm
©og 'q4° Section “B”
Ue HHIG 1B — 39 @S H U (5) Rad wA aret yed g1 g9 Raa w=! @F gfid
P |

In this section five (5) fill in the blanks type question complete fill in the blanks

in it.
(2) TP uRuy & 10Q 3\ & U yfeRy F9FdR 9 ¥ ofis T8 7
al uRuY &1 Jed TR o BRI |

In a circuit five resistance of 102 ohm are connected in parallel order. Then
equivalent of the circuit will be ..................

(b) PR TaRl & WONT ¥ I W g9 P U WX 0.01
eI ST & Sar 2 O 30 €9 $ Ukl W
forefom amdferes ST 8N |

If 0.01 milegram arsenic is deposited on each paddy plant while using

insecctiside. then .............. miligram arsenic will be deposit on 30 paddy
plants.



Internal membrane of stomach is protected by .......... acid.
(e) 971 €Ul gRT 41 gfafde Wem amyf afiw gaT 2

Image formed by convex mirror is erect virtual and .................

g |q' Section “C”
e HHIG 10— g gag Tifew —

Match the following :-
A B
1. Ufe el ShTeATSIT STl
2, FARA STl BT BARAT G BRAT
3. TETdIRT FET
4, €T ST el Teed
5. faegd 3T
&R
Eg
A B
1. Animal Ecology Water
2. Chlorine Remove hardness of water
3. Sulphuric acid Non metal
4. Washing soda Charles alton
5. Electricity Acid
Base
Metal

e — 9 6 2 W 6 05 B TR ARTTERTNIT Ye & Ud ye W 2 (3)
35 FEiRd 21 IR B Afead e HAT 30 T

Instruction:- Question No.2 to 6 are very short answer type question. Each question carries 2

marks. Maximum word limit for answer is 30 words.

Ued HHIG 2 — dl A dl g H W HI AT el IHBT PH A 6 | deldhs
8 IR faar| g9 g9 ¥ <8 9 | a1 HHY o gl

Lata has increased PH value of fresh milk by adding Baking soda with from 6
to 8. More time will required from this milk to change it into curd why?

TS HHIG 3 — WIH B Ael & TAE-Db g for@ax & IudnT falag | (1+1)

Write the chemical formula and two uses of Baking soda.




U HHIB 4 — Fofl b INERETT 3R A WERTTT Fidl § $ig ©f far forfem |

(1+1)
Write any two differences between the sources of traditional and non-
traditional energy.
U3 HHIDG 5 — HIGT SFF 3T © Hls IR A oIy | (Vox4)
Write the name of any four female reproductive organs.
g HAD 6 — WUHG IUAET 9T 2 | (02)

What are primary Consumers.

e — g BB 7 W 10 TB B W AfeESTNE UEH § IS Ye W 3 ()
3 fEiRa 81 SR BT iffiead wres T 50 2 |

Instruction: - Question No.7 to 10 are very short answer type question. Each question carries 3
marks. Maximum word limit for answer 1s 50 words.
U BAG 7 — 4 B TP IR P @418 200em. & | THS TH Bl 30°c H 40% TP
9BM W IR B dars § fran gfe g 3t ar &1 &g wer
o 26x 10° YR “c BT & | (3)
How much length will be increased in a copper wire whose length is 200cm.

while raising its temperature from 30" to 40°c (If lincar coefficient is of wire

is expansion 26X 10 per ¢

U HHIH 8 — Il QYU 3iIN 3fdcel SUTT H Hig oM o forfem | (3)
Write any three differences between convex and concave mirror.

Ue HHIE 9 — T B qifen B @ fam fafeg (3)
Write the fleming right hand rule.

U HmHIG 10— Sidl & (e @ fgid @ oF qea g fafen (1x3)
Write three main prints of principles of biological evolution.

e — g BHF 11 9 14 TH P YT ST U9 § UG Y W 4 (TR)
3w fiRa 21 vl ged ¥ araRe fawen iy 17 21 SR 3 arfreaw
g AT 75 2 |

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4
marks. In each question internal choice are given. Maximum word limit for answer
is 75 words.

U ®HB 11— PH 6 wed 87 <P o # ISP A A fagen W
forfEm | (143)
What is called PH value? Write its importance in three points in daily life.
YT / OR



argfes afmad e ferfey | amgfve amad wRl &7 i faeoand

forfeey | (14+3)
Write modern periodic law? Write three characteristics of modern periodic
table.

TS HHIG 12— Hicrrgd &1 U Aiffe S dlaos forg gv 9w 97 &7 uaef g
HT IUINT I e AR AvERTS & wU H fomar S 2|

(a) 39 I &1 a9 7 |gF o |

(b) 39 9fTE & 9y A W Blgd W B W A9 g A 2,
AHTHTT B IS FHIER0T forley | (2+2)
Calcium compound which a yellowish , white colored matter is used in textile

industry and as germicides.

(a) Write the name and formula of this compound.
(b) Which gas is released if their compound is left free in open air. write the
chemical equation of this reaction.

31741 / OR
Ag & U UHTe 3R TINIES ore °f flax # v9 o fheg 98
Nt o= AfE w1 AW e g T 3@ H7IgH BIE A g
N & ygaH ¥ b g e d 9 & ueRt § IgD
s wHmer #Y faReg | (2+2)
Mohan has two beakers in which ethanol and ethenoic acid were kept but he
forgot to write their names on beakers Now what experiment he should do to

find out that in which beaker what matter is present? write its chemical
equation.

U SHHID 13— Il AR YSAIADHR o1 87 Ydd hl Iarevyl forfen | (2+2)
What is an adaptation and speciation? Write the example of each.
JdT / OR
@l dor gHIRaT @1 27 S9® BRUT ferfey | (2+2)
What is sickle cell anemia? Write its factors.
Ue A% 14— BAR YRR H e fhameil @1 Hdarem S BT g7 J&ERI
RIESESERIFN (2+2)

How involuntary actions are conducted in our body? explain with example.

J1eraT / OR

gAR 89T H Yaq &I uRdagd 9 &l 7 | (04)

How blood circulation takes place in our heart? explain it.

s — U BHP 15 | 16 TP D U TESTNE W € YD WIS W 5 ()
3 fiRa 21 % uea & andRe fawey fir 70 21 SR &) aiffedq
e T 100 T |




Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5

marks. In each question internal choice are given. Maximum word limit for answer
is 100 words.

U HHID 15 — I<iol o B THE dehell bra R R g%g B Ufkifdd a9 @I
fpeur AR FHwe o= gfifdd @1 gl smer 9 Rafa fofeay

(2+3)

AU — it el fom @ i R S9d o & & SudT
forenT |
Draw a ray path of image of an object placed at centre of curvature in front of
convex lens. Write the nature of image, size and position.
(Note : visually impaired students will write two uses of convex lens in place of
ray diagram.)
3491 / OR
HAGA qUU B T W& g% @1 ufdfdd 9 @1 fewor A/l
wieex a9 vRie B yaR, aeR 9 Refy e |
@ — gftcarferd foemefl o © M W |Hae <Uu & < UGN
?ﬂQc T |)
Draw a ray path of image of an object placed in front of plane mirror. Write the
nature of image. size and position.

(Note : Visually impaired students will write two uses of plane mirror in place
of ray diagram.)

e HHIG 16 — (I SIE B guiE Freifea el @ sfaefa s (142+2)
(a) g (b) THIfed SR (c) wrfafr
AU — gfeag  feemedi amifed sane o e R fOgd S @
grae @ faf= v @& A B ot |

Describe electric generator under the following heads :

(1) Principle (i1) Labelled sketch  (ii1) Working Mechanism

(Note : visually impaired students will write the names of various parts of
electric generator in place of labelled sketch)

JaT / OR
2l ufeR R, 9 R, & WHMIGR HH Faled BT quie faifed eie
P AT BT |
(@) i fagga uRur  (b) Ugad g &1 fordA

(0 — gftcarferd faeneft amifea faga uRuy & e R FHHIaR
BH AT FT BT 2 T e giore R fava &1 9= forsi )

Describe the parallel combination of two resistance R, and Rs under the

following heads:

(1) Labelled clectric circuit (11) Deduction of probable formula



(Note : Visually impaired students will write What is parallel combination and
value of potential at each resistance in place of labelled electric circuit.)

e — v PE® 17 | 18 TP B YA ST W ® YD Y W 6 (T)
Ao feiRd 2| o wee # onfaRe fawed Ry 0 8| SR Y erfdrean
¥eq HHT 150 B |

Instruction:- Question No.17 to 18 are Long answer type question. Fach question carries 6

marks. In each question internal choice are given. Maximum word limit for answer
1s 150 words.

U HHIP 17 — (a) T BRI S99 g [rAreried AfAfpamel & dqferd AHieeo
ferfeey — (3)
(1) DfeRrgw HEHT HI TR B W |
(2) WAifeT® oY areRieA & s
(b) TTfcdes AMATSS | T UG B IHEDG FihgT FASST |
3)

(a) Write the balanced chemical equation for the following reaction, what
happens when,

(i) Calcium carbonate is heated.

(i1) Reaction of sodium with oxygen.

(b) Explain the chemical reaction of metal reduction from metallic oxide.

JJraT / OR
1 g 59 g9 vq el sfafsaret @ wemaftie aeiexe
wfgd fofeg — 3)
(i) FETIeE B I 99 9 319 W gegoA o fhar R |
(i) s™er e &1 Aifsan seseass 9 frar s S|

(b) fewmag g ugrel # & i o1 SygT fear Sar 8 e
FqI? (3)

Write the balanced chemical equation for the following reaction, what
happens when,

(1) Reaction of nitrogen with hydrogen at high temperature and pressure.

(i) When granulated zinc reacts with sodium Hydroxide.

(b) Which gas is used in sealed tin packed food items and why?

g HAG 18 — (a) gATT § ®ER dgar & aRags o=ar g w7 (3)
(b) ARTH & T B forfey | (3)
(a) Blood circulation in arteries with force, why?
{b) Write three functions of brain.

JeraT / OR

(@) U™ wWreg 3 ford g ors & iy (3)
(b) R 7 o8 oF (03) fachas e eor feray | (3)
(a) Smoking is injurious to health why?

(b) Write any three secondary sexual characters in male.



